{ 1 2 *“x‘}cr::::io.,__ivf,;i

MK14 BODYWORKS

=
code description %%;JH\%TJ'F%
1A |BDW-FRTSPL14 FRONT SPOILER MOD.MK14 BLACK ¥10,800
1B |BDW-FRTSPL14-WH FRONT SPOILER MOD.MK14 WHITE ¥10,800
2 |BDW-LWFRSUPMK20 LOW FRONT SPOILER SUPPORT CHROMED ¥3,800
3 |BDW-FRTHHSUP14 MK14 HIGH FRONT SPOILER SUPPORT CHROMED ¥4,800
4 |KIT-VT-WS0612 WASHER 06x12MM ¥40
5 |KIT-VT-NTO06SH NUT SELFLOCK HIGH M6 ¥50
6 |KIT-VT-SC0630CH SCREW CYLINDRICAL HEAD M6x30MM ¥60
7 |KIT-VT-SC0625SH SCREW COUNTERSUNK HEAD M6x25MM ¥60
8 |KIT-VT-WS0620CH WASHER COUNTERSUNK 06x20MM TITAN GOLD ANODIZED ¥200
9 |KIT-VT-SB0620 SILENTBLOCK 06x020xH5MM ¥120
10 |KIT-VT-NTO6SL NUT SELFLOCK LOW M6 ¥50
11A |BDW-NMBHLD14 NASSAU PANEL MOD.MK14 BLACK ¥4,800
11B |BDW-NMBHLD14-WH NASSAU PANEL MOD.MK14 WHITE F ¥4,800
12 |KIT-BDW-HLDHHSUP HIGH NASSAU PANEL SUPPORT CHROMED (2 pieces) ¥3,800
13 |BDW-HLDLWSUP LOW NASSAU PANEL SUPPORT CHROMED ¥1,800
14 |KIT-VT-SF0612PN SAFETY PIN L12MM ¥520
15 |KIT-VT-SFSPLNH NASSAU PANEL SAFETY SPLIT PIN ¥100
16A |BDW-LFTBDW14 LEFT BODYWORK MOD.MK14 BLACK ¥6,800
16B |BDW-LFTBDW14-WH LEFT BODYWORK MOD.MK14 WHITE ¥6,800
17A |BDW-RGHBDW14 RIGHT BODYWORK MOD.MK14 BLACK ¥6,800
17B |BDW-RGHBDW14-WH RIGHT BODYWORK MOD.MK14 WHITE ¥6,800
18 |BDW-LFTSUP14 MK14 LEFT BODYWORK SUPPORT CHROMED ¥7,800
19 |BDW-RGHSUP14 MK14 RIGHT BODYWORK SUPPORT CHROMED ¥7,800
20 |KIT-BDW-BMPBSH SIDE BUMPER BUSH ¥580
21 |KIT-VT-SC0640CH SCREW CYLINDRICAL HEAD M6x40MM ¥60
22 |KIT-VT-SCO0830SH SCREW COUNTERSUNK HEAD M8x30MM ¥60
23 |KIT-VT-WS0816 WASHER 8x16MM ¥40
24 |KIT-VT-NTO8SL NUT SELFLOCK LOW M8 ¥50
25 |BDW-RRBDW14 REAR SPOILER MOD.TRIS BLACK ¥17,800
26A |KIT-RRBDWSUP REAR SPOILER SUPPORT KIT ¥11,800
26B |KIT-RRBDWSUPM MONSTER EVO REAR SPOILER SUPPORT KIT ¥11,800
27A |KIT-RRBDW28 REAR SPOILER MOUNTING SCREWS KIT (028MM) (RIGHT + LEFT) ¥6,800
27B |KIT-RRBDWRTX ROTAX MICROMAX REAR SPOILER MOUNTING KIT 028MM RIGHT+LEFT ¥6,800
27C |KIT-RRBDW28M MONSTER REAR SPOILER SCREWS KIT 028mm RIGHT+LEFT ¥6,800
28 |KIT-BDW-BMPCLP FRONT BUMPER CLIP (2 pieces) ¥4,800
29 |BDW-BMPFST FRONT SPOILER FASTENING ¥1,800
141

IPK ACCESSORIES / REV.001



AL 1A
. VR IA :
soriesyprice_list/

1O

Trr—

IPK ACCESSORIES / REV.001



